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1 a
u=-§+mn, U—*(nggn (6'_1+b)
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ds* = (1 — a®tanh? v) du® + 2abtanh® v du dv + a® tanh? v dv®
= d¢? + 2(2tanh? v — 1) d¢ dn + dn?
= d€? + 2F d¢ dn + dn?,
IT = tanhvsech v(—a® du? + 2ab du dv + a* dv?)
= 4 tanhvsechv d€ dn
=2M d&dn
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0d?0000000 00

ds® = (1 — a® tanh®v) du® + 2ab tanh® v du dv + a? tanh? v dv?,
IT = tanhvsech v(—a? du? + 2ab du dv + o* dv?)
0000000000000 e b0 «¢*+0*=10000000
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ds? = d€? + 2(2tanh® v — 1) d€ dn + dn? = dE? + 2F de dn + dn?,
II = 4tanhvsechv dédn = 2M dé dn

» F =2tanh?v — 1, M = 2tanhwvsechv: F2+ M2 =1
> F=cosf, M=sinf (0<f<7)000 AO0O0DOOO
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> §=4tan"le ¥ =4tan"Lexp (65 + 377),
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F =cosf =2tanh?v — 1 = sinh’ v — 1 _ 1= cosech? v
sinh®v+1 1+ cosech?v’

2sinh 9 cosech

M =sinf = 2tanhvsechv = — SH; v _ _£cosee /U21)7
sinh®+1 1+ cosech
2e7"

0
tan — = cosechv = = 5
2 ev —e? 1—e 20
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tang =e U =exp ((5§ + Sn)
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> O = sind.
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ds® = du® 4+ 2cos 0 dudv + dv®, II = 2sin 6 dudv
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ds® = (1 — a® tanh®v) du® + 2abtanh® v du dv + a? tanh? v dv?,
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0000 (6, 00000000000000000
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